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TTE
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THOR S| A 0 0.01 0 0.01
HETH A2 2B AL EF IR 0 0.01 0 0.01
LHEALR 22| 3| A 0 0.00 0 0.00
29 1 0.21 1 0.21
I 7| EtH| 2+ 0 0.00 0 0.00
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A EESTETer=
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SHHHA 1 0.14 0 0.09
RHAt2-8 AL 0 0.19 0 0.19
EHOR S| A 0 0.09 0 0.09
H £ X A2 2| AF(ALEFRI X} 0 0.01 0 0.01
LA 22| 3| A 0 0.00 0 0.00
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- CHEOiO) S L4 0 0.04 0 0.02
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7| 1.7044 0 1.7056 0.4444
A =] 1.7045 0 1.7057 0.4868
7| 2.305 0 2.3062 0.3568
cl =% 2.3042 0 2.3054 0.5706
7| 2.1556 0 2.1568 0.3986
2 =] 2.1556 0 21568 0.5787
7| 2.0253 0 2.0265 0.4416
< =] 2.0253 0 2.0266 0.4816
7| 1.9049 0 1.9062 0.4909
C4 =] 1.905 0 1.9063 0.4538
7| 1.8047 0 1.8059 0.445
© =% 1.8047 0 1.806 0.4867
7| 0.8005 0 0.8017 0.4471
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7| 1.8047 0 1.8059 0.4419
Ce = 1.8047 0 1.806 0.4836
7| 1.6539 0 1.6551 0.4503
cp = 1.6539 0 1.6551 0.5095
7| 0.832 0 0.8331 0.3935
! =% 0.832 0 0.8331 0.6155
7| 1.1493 0 1.1505 0.4479
> = 1.1494 0 1.1507 0.4726
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